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[e1:018] Q1_2
[Bi4ag] [ZoNSH: XoDNE2] 220 HEat

B 8 Bagt BE HHUE |35 HHE
Mol 2 Al oLt 1 102 5.2 5.2
22 YK U0 2 526 26.8 26.8
BEOICH e 3 854 435 43.5
Cha JCH- 4 380 19.3 19.3
e 2 5 99 5.0 5.0
8t 1965 100.0 100.0

3) Lhs F=HAIZSOIH SR8 ALZH0l2t D25

[e12018] Q1.3

[BiaY] [BONSH: NODHE3] FHAZSHH SR8 ArRtetD M2AsiC

B 8y Mgt Ble HUE 95 HUE
Mol 12X oLf - 1 30 15 15
2 YR UL 2 254 12.9 12.9
E%Oll:l’ ............................................ 3 990 504 504
ChA D™ 4 530 27.0 27.0
e 2 5 160 8.1 8.1
=9 1965 100.0 100.0

4) Lh= Lte 8240l er= st

[e1018] Q1_4

[Hasg] [HoARSH: X0oPfEA] 420 Q=Y

B 8 Bagt BE HHUE |35 HHE
Mol 1= Al oILf - i 115 5.9 5.9
22 YR U0 2 487 24.8 24.8
BEOICH e 3 622 31.7 31.7
Cha JCH- 4 562 28.6 28.6
e 2 5 178 9.1 9.1
8 1965 100.0 100.0
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[B==018] Q1.5

[(H==2Y] [HAREL: TOHHES] FHA Lol =& S T

Hegt &9 Bt BlE HUE R& HUIE
8o =X @O - 1 21 1.1 1.1
g2z J0gX &0t - 2 253 12.9 12.9

S SO0IC ceveeeeees 3 716 36.4 36.4
Cta OO0 - 4 7 39.5 39.5
O JECH 5 193 9.8 9.8
gl 1965 100.0 100.0

6) Li= Lt2l 401 S{=5HCHD M2E8HCE

[H==018] Q1_6

(Had] [BAXSL: #H=21] 40| H=SoH0HD M50

Hagt &9 =gt gl HUE R|R& HUE
&5l 8K ot - 1 88 4.5 4.5
g2 =X &0 - 2 339 17.3 17.3
E%Oll:l’ ............................................ 3 648 330 880
Cta& &L - 4 612 31.1 31.1
s JECt - 5 270 13.7 13.7
28 1965 100.0 100.0

7) Lhs 2&E et g2 gltt

[(BE==015] Q1_7

[(H=EY] [FAXNEL: d=522] 2F Nt 82 gt

Hegt &9 Bt BlE HUE R& HUE
8o =X & - 1 389 19.8 19.8
g2z J0gX &0t - 2 770 39.2 39.2

S SO0IC ceeeeeeeees 3 458 23.3 23.3
Cta D0 4 266 13.5 13.5
O JECH 5 80 4.1 4.1
gl 1965 100.0 100.0
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8) Li= Ab= Hl B0

[H2012] Q1.8

[Haag] [HoNSH: =30

Bt S B gt = HUE 95 HHE
Dol 12X 20 - i 89 45 45
S22 YA U0 2 352 17.9 17.9
EE0|C} wweeeeeee 3 769 39.1 39.1
Cha JCH- 4 535 27.2 27.2
e It 5 216 1.0 1.0
DK cevvernrerees 8 4 0.2 0.2
B3 1965 100.0 100.0
9) L= DIZHOfl LAJE OIR DX 5H= 242 012 4 = XAlZol UCH

[#2012] Q1.9

[HAaso] [Ho OI2DX 3= 242 01 4 U= TAZ0l UCH

Bagt 49 2t BlE HUE |5 HUE
Hol 1E Al Lt 1 87 44 44
S2 X 2L 2 469 23.9 23.9
E%Oll:l’ ............................................ 3 635 323 823
Cha JZCH- 4 483 24.6 24.6
H LTt - 5 288 14.7 14.7
B 1965 100.0 100.0
10) LHs 298t Lo QM2 EE IR D UL

[212012] Qi_t

[Hasg] [Zo M HEI} 2ot

Bt Y o123t I HHAE |5 HUE
Mol 12 Al 2Lk - 1 100 5.1 5.1
@2 QX U 2 455 23.2 23.2
BEOICE e 3 500 25.4 25.4
ChA D0 4 486 24.7 24.7
e 1 5 423 215 21.5
2y 1965 100.0 100.0
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[214012] Q2.9

[B48] [QNNSH: SHHZSZ1] 2H S A0l LUK B 0I5

Bt 8y Mgk BIE HUE 85 HME
Hol 12N 20 1 30 15 15
w2 DX ULt 2 382 19.4 19.4
BEOIC e 3 806 41.0 41.0
ChA D™ 4 584 29.7 29.7
i Dt 5 160 8.1 8.1

DK ceevrerenees 8 3 0.2 0.2
8 1965 100.0 100.0

OI8] Q2_10

Hd] [QXNHEL: 2HHZ s

| os T

u
N
HO
é
o
1]
m
m
0
HI
i
1>
1ga]
re
Q

Biagt &9 gt Bl= HUE S5 HAE
Mol OEX &0 - 1 119 6.1 6.1
g2 JEX %0 - 2 591 30.1 30.1
EIE O} voevervrrvnennnnnnoneennenneenseereennennens 3 699 35 6 35 6
CFA TDZILE coeerreereeevrereenrennennssianeeaens 4 428 218 218
DHS DT covvrreereemveernrnnennennnineneeaens 5 123 6.3 6.3
DK eveernnneens 8 5 0.3 0.3
Al 1965 100.0 100.0

11) U= SHOL 42 M, o JtX SH0AM SHe *els 2460

[#14018] Q2_11

[B429] [QNNSS: SHHZSH3] 02 X SBH0IA SHC /el8 EAST
M3t 8 Magt BT HHME 25 HME
M5 12 A &LCF- 1 131 6.7 6.7
w2 QYN - 2 501 25.5 25.5
EDEE QO wvvvrmvrmvmmvmnemnmmnmnnenninnneneneas 3 754 38.4 38.4
Cha D20 4 458 23.3 23.3
e Do 5 116 5.9 5.9
= 1965 100.0 100.0
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12) b= SHMIDF L45HH

ZHME o &

[B1=015] Q2_12

(B8] [AXNHSL: 2HoiZ5254] 2 Hlok Flof H=S SEAl =&t
Bagt &8 St gle HUEE S35 HUE
8o O X €O - 1 139 7.1 7.1
g2z JgX o - 2 634 32.3 32.3
EDE QI T} vevvvvrerereoeenmmmnnnnnennenes 3 745 37.9 37.9
Cha JECt - 4 340 17.3 17.3
1T = 5 103 50 592
&l 1965 100.0 100.0

Ol8] Q2_13

/\-ID:!] [Q_lxlx—l%/\‘l'—',:—

T T o e

Mol oHZ0l HEs 2 N2 E/[=K BEAl ZS0t 20

MolZ==5] 2HMoHZ0l HEE W2 Uy=X ZESHT

Biagt &9 gt Bl= HUE S5 HAE
&ol X 20 - 1 183 9.3 9.3
HZ OgX Lo - 2 591 30.1 30.1
EIEQIC} voeveeverrrernennnnennennaens 3 703 35 8 358
CFA TDZICH cooeereeeveevernnennnnnnns 4 364 18.5 18.5
OHS DDZCH coveereeeveevmrnnennnnnens 5 199 6.2 6.2
DK eveernnneens 8 2 0.1 0.1
Al 1965 100.0 100.0
LS stdol ZZet A0l QLICH & 40 At OHE LXISHCHD M2 g
= R0l VEI| =M

1) uUe dzs Wi 88 & 210

[B==018] Q3_1

(B=dY] [J2YH 1] 2= Wor dEE 240ICH

B2t 49 Bt Bl HAE 78 HUE
&ol X 20 - 1 5 0.3 0.3
=22 O X Z0 - 2 56 2.8 2.8
EIE QT cooverrrrrnreerreneenenennns 3 203 10.3 10.3
A = 4 701 35.7 35.7
s DL 5 999 50.8 50.8
DK evvrrrnneenes 8 1 0.1 0.1
2 1965 100.0 100.0
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CtS2 AP A 20 2tet M=SLICH & 8110 A JrE XIstt) 28 = =20l
|

[21401S] Q5_1

[Biaae] (AR ASIHARIZT] ABA S22 SAS 2010

Blagt 89 Magt WS HUME S5 HME
H5l J2 X & 1 88 45 45
B2 DX 2L 2 330 16.8 16.8
E%O|E|. ............................................ 3 715 364 364
Cha DCH- 4 683 34.8 34.8
e O 5 148 7.5 7.5
=P 1965 100.0 100.0

2) L= U =9 R0l AFRSS MRIB

[214018] Q5.2

[4a9] (A2 ASIHARIAL] L =9 (22 ARSS MRS

Bt & Magt  HME  HHME S5 HME
o O X &0 1 26 1.3 1.3
22 J0gX &0 2 208 10.6 10.6
E%Oll:l’ ............................................ 3 572 291 291
[:|.jk_ 3%[]. ........................................ 4 904 460 460
DHQ_ 3%[]. ........................................ 5 254 129 ‘]29
2 1965  100.0 100.0

3) 22 MBlE HAIZ BHE ASIQ 2 20

[21401S] Q5.3

[Biaae] (A2 ASIHARI23] 22| Asls BHE B8 ASI0ITH

Blagt 89 Magt WS HUME S5 HME
H5l J2 X & 1 531 27.0 27.0
B2 DX 20 2 825 42.0 42.0
E%O|E|. ............................................ 3 452 230 230
Cha DCH- 4 132 6.7 6.7
e O 5 23 1.2 1.2
=P 1965 100.0 100.0
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[#1015] Q5_4

[Baa9] [Asmoig: ASINARI4] =9 P2 AFZS0l IXOHCHD 42450
B3t 49 sl HE HYE 88 HUE
M5 12N 2L 1 97 4.9 4.9
w2 X e 2 459 23.4 23.4
HEO0ICH 3 749 38.1 38.1
ChA DO 4 530 27.0 27.0
S D CH 5 125 6.4 6.4
DK ceevrerenees 8 5 0.3 0.3
B 1965  100.0 100.0

[214012] Q5.5
[Biag] [Asoe: ASEDIE1] S A—UAE & 28 A0t

B 8y ST = HUE 985 HME
Mol 12X oLf - 1 295 15.0 15.0
we DX &l 2 554 28.2 28.2
E%Oll:l’ ............................................ 3 514 262 262
[:|.jk_ 3%[]. ........................................ 4 422 215 2‘]5
DHQ_ 3%[]. ........................................ 5 178 91 91
=] 1965 100.0 100.0

6) Li= RS2 51012 N2 HABIT= 5t 20| U0

[B1012] Q5.6

(B3] [ABIRoz: ASI XD 22] PSS #2451 5t S0/ ATH

Bt 8y Bzt owlE HME 85§ HME
Hol 12 A 2C 1 50 2.5 2.5
@2 DX o 2 296 5.1 5.1
E%O|E|. ............................................ 3 916 466 466
Cha D™ 4 569 29.0 29.0
i D 5 133 6.8 6.8
DK cesesesneens 8 1 01 01
8 1965 100.0 100.0
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7) Lhs ERE 209 MOINOIE RS RSB B 4 UL

[#2018] Q5.7

[B2a9] [AalXeizr ASIHD 23] BRSO HoE 2HE RSN & 2 AT
B2 A Magt  HE  HHME 95 HHE
Ha JZ Al 9 1 53 2.7 2.7
B2 X 2 411 20.9 20.9
EET IS 3 820 41.7 41.7
Cha D0 4 536 27.3 27.3
= 1965 100.0 100.0

8) Lt= Ltet 9A0| CHE AtotDE Z 0I0kJ| St= ®OlCt

[214012] Q5.8
EEEEINWEEES:

DAFEI D =4] /A0l THE AP IS 0|0FD |12 & BT

Biagt &9 gt Bl= HUE S5 HAE
Mol OEX &0 - 1 51 2.6 2.6
g2 JEX %0 - 2 381 19.4 19.4
EIE O} voevervrrvnennnnnnoneennenneenseereennennens 3 707 36.0 36.0
CFA TDZILE coeerreereeevrereenrennennssianeeaens 4 672 349 349
DHS DT covvrreereemveernrnnennennnineneeaens 5 153 7.8 78
DK evvrrrnneenns 8 1 0.1 0.1
Al 1965 100.0 100.0

9) Ltz 27 E 2t LSANE 2 iZE = ALk

[B1==015] Q5.9

[BIAH] [AZAHAE: ASIHD|=5] &IFRAS2H ZS2AHE 2 ZE = AL
Bt 49 Bgt BlE HAE 78 HAE
&5 O X 20 1 48 2.4 2.4
g2 €N &0 2 404 20.6 20.6
EIE QT coovervvrrrrreernennnennereinsinneneneennss 3 879 44.7 44.7
Cta OO0} - 4 515 26.2 26.2
< &L 5 117 6.0 6.0

DK ereernnnees 8 ) 0.1 0.1
28! 1965 100.0 100.0
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[B==015] Q5_10

[(H==EY] [MaAAE: JAMSET] A2 AtEE S=U

Hegt &9 Bt BlE HUE R& HUE
8o =X @O - 1 70 3.6 3.6
g2z J0gX &0t - 2 461 23.5 23.5

S SO0IC ceveeeeees 3 879 44.7 44.7
Cta O - 4 445 22.6 22.6
hs <Lt 5 108 5.5 5.5
gl 1965 100.0 100.0
1) Ll S 0lM 8w &R2S0 2 o{28lCh

[H==0185] Q5_11

[(H=EY] [MaAGE: TASH2] SN PSD 2 S8l

Hagt &9 =gt gl HUE R|R& HUE
&5l 28X ot - 1 17 0.9 0.9
g2 =X &0 - 2 85 4.3 4.3
E%Oll:l’ ............................................ 3 606 308 808
Cta& &0 - 4 866 441 441
s JECt - 5 390 19.8 19.8
28] 1965 100.0 100.0
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